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GENERAL NTELLIGENCE

Dlrectlons (Questlons 1-3) Study the followzng znformatzon carefully to answer these questions.
"A..Seven. students Pradeep, Qadir, Rohit, Sushant Tushar, Uday and V1kas wnte a test senes
- B:..Either. Roh1t or Sushant scores the hlghest 1in each-test. - St
_ C Pradeep- always scores less than Vikas. -
" De-Qadir alWays scores less than Pradeep. - :
E;;;Each trme Roh1t scores the hlghest “Tushar gets the 1éast. - -
F.'F_’Each tlme Sushant scores- the highest, either Uday or Qadlr scores the least
G nt«scores marks d" _

ent from eao_h other..r; .-

lar test 1f Sushant 18 ranked second which of the followmg can be true? = - .-
A day-gets more marks 1l ikas., . (2): Vlkas is ranked fifth.
_:(3)wTushar gets more marks than Qadlr : (4) Pradeep is ranked 3rd

2. vfIn a partlcular test,slf Sushant 1stranked sixth.and Qadlr is- ranked ﬁﬂh which of the followmg
'~ canbe true" :

(2) Rohit ls 'ranked second or third.
(4) Uday is ranked third or fourth

,(3) Pradee is ranked second _or~ﬁfth ~

press
1fﬁcu1t to breathe in space .

B e VAP




1. Seemais, computer literate.
_ II. Seema has good reasoning ability, _

Statement: Computer literates have good reasoning ab111ty Seema can understand the
puzzle quickly.

Conclusioiis:

Directions (Questions 6-7): Complete the series by replacing ‘?’

6.

Directions (Questions 8-9): Find the odd one out in each of these questions.

8.

10.
11

12,

13.

CMPW - @KBV - (3)K36S @ K36W

Z1C, W4E, T9H, Q16L, N25Q, <2’

2AD4, 3EHY, 4IL16, 5MP25, <?* » -
(1)6MS36 (2 6QT36 - (3)6PT36 ~ (4) 6QU36:

(1) 69,43 . (263,47 - (3)34,85 (465,23
(1) E1204S -  (2) C9L30 - (3) J6PAT . (4) GYP3S

Pcinting to a man in a photograph, Sakshi said, “His brother is the father of the son of my "
grandmother”. How is Sakshi related to the man in the photograph? |

_(1) Grandniece | (2) Niece (3) Daughter (4) Granddaughter

In a certain. code, 1f ENGLAND is wrltten as 1234526 and FRANCE is written as 785291, how
is' GREECE coded?

(1) 381171 V) 381191 . 3) 832252 - 4) 835545

One day; Ramesh left home and cycled 10 km southwards, turned 11ght and cycled 5 km-and

‘turned right and cycled 10 km and turned left and cycled 10 km, How many kilometers will he ¢

have to cycle to reach his home straight?
(1) 25km " (2)20km . 3)15km 4) 10 km

Six students A, B, C, D; E 'an-d‘I;’ are sitting “inrthe field. A and B are from Delhi while the rest

- are from Bengaluru. D and F are tall while others are short. A, C and D are girls while others

are boys. Who is the tall girl from Bengaluru? o
(DF - E - @3)cC @D
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14.

15,

" 16.

17.

.. .. GENERAL AWARENESS .
The internet pioneer and e-mail 1nventor has passed away recently in USA at the
age of 74 years. '
".(1) Anita Brookner - . * ~ (2) Raymond Tomlinson
(3) Lloyd Stowell Shapley (4) George Henry Martin

Wh1ch one of the following nationalized banks from India was granted operatmg licence by

 Myanmar- Govemment along W1th three other Asian banks? -

(1) Indian Overseas Bank - . (@) Bank of Baroda

(3) State Bank ofIndia =~ =~ 4) Central Bank of India

Who has become the 7th Chalrman of. the National Human Rights Commission (NHRC) in

- 20167 S
(DRM Lodha - o (2) K.G. Balakrishnan
(3) HL Dattu - : .(4) None of these

_ Which one of the followmg states/UTs has been formally declared country’s first digital

- . -state/UT by President of Indla in February 20167

18.

19.

| - (1) Chandigarh (2) Delhi (3) Gujarat - © (4 Kerala

Parliament building of " : became the ﬁrst in the world in February 2016 to
. - completely run-on solar power.. :~ . . |

-

(1) UK . ' Q) Japan ) Pak1stan NN )} Indonesia

Where did the four day b1enn1al event, Defexpo India 2016, India’ 's biggest ever land; naval and

Homeland seciirity exhibition take place in March 2016?

- (1) New Delhi ) Goa | (3) Hyderabad (4) ‘Pune

20,

0 g

- Which among ‘the followmg ﬁlms has been selected as the Best Feature Film in the 63™

Natjonal F1lm Awards for the year 2015 announced recently? - -

(1) Piku, .- _ . (2) Tanu Weds Manu Returns
, (3) Bajrangi Ehaijaan _ ' (4) Baahubali: The Beginning

Johan Cruyff the famous football legend Who passed away at the age of 68 due to lung cancer
belongs to -

(1) Spain. - (2) Dutch; L o (3) France. (4) Germany.

JT/A/ZI(lG/QS o _ 5




22.

- (1) Citi Bank

Which Bank in India has introduced the FERRARI range of co-branded credit cards
association with Italian luxury sports car manufacturer, Ferrari in March 20162

(2) Yes Bank (3) ICICI Bank (4) Axis Bank

23. ITC has launched its latest offering in the WelcomHeritagé series called WelcomHeritay
Haveli Dharampura in IR : .
(1) Delhi. (2) Shimla, (3) Chandigarh. (4) Srinagar.

24, The US ~Preside’n,t Barack Obama has recently made a historic visit to which one of th
following North-American,cquntn'es after a gap of 88 years by any US President?

" (1) Mexico ~ (2) Cuba (3) Honduras (4) Nicaragua

25. Where was ‘Iron Fist 2016 ’, the exercise for air power demonstration held by the Indian Air
Force in March 20167 S Co . -
(1) Gujarat™ ,'(_2) Punjab (3) Maharashtra (4) Rajasthan

QUAN TITATIVE APTITUDE
. 26. -If a number is mul,t_iplibed by 22 and the same number is added to it, then we get a number that is

half the square of that number. Find the number. S ' S
145 - (2)46 (3) 47 * (4) Data insufficient

 27.§ The z;ﬁferage of x,- Ayvand z1is 45 X 18 as mubh more than the average as y is.less than the average.

' Find the value of z. T _

- (1) 45 . (2) 25 (3) 35 | 4) 15

28. In what ratio should water bej mixed Wifh_soda posting T 12 per litre ‘so as to make a profit of :
25% by selling the diluted liquid at ¥ 13.75 per litre? -
M 10:1 2)11:1 L3111 ‘(4) 12:1

29. A man iﬁ'{‘f;ésts z 10,000 in some shares in the ratiol2 2315 which péy dividends of 10%, 25%
and 20% respectively on his investment for that year. Find his dividend income. |
) 1900° (2) Z2000 (3) T2050 (4) 1950 :

30. A music system when sold for ¥ 4500 gives a loss of 16.66% to the merchant who sells it.

Calculate his loss or gain per eent (approx.), if he sells it for ¥ 5703.75.

(1) Loss of 5.625% N

(3) Loss 0f 7.0% -

JT/AJ2K16/05
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(2) Profit of 8.3'3%.
(4) Profit of 5.60%




L ‘ 38. . ‘

3L A, shopkeeper buys an artlcle for k¢ 400: and marks it for sale at a price that gives him 80%
' proﬁt on his cost. He; however, gives:a 15% discount-on-the marked pnce to hlS customer
Calculate the‘actual}_percentage proﬁt made by the shopkeeper

(1)604" (2)64% L (3)53% O Uy s

C320 A sum of money placed at compound mterest doublesﬁrtself i34 years In how many years will
itamount'to. 8 timies itself?7s. o e .

(1) 9yea_rs i @) 8;‘years S (G) 27 years (47 years

'..r
J"

u =
s

33. If a prmcrpal‘P, becomes Q in 2 years when 1nterest R% is compounded half yearly And if the
. _same principle: P becomes Qin2 years when interest '$% is " compounded annually, ‘then which

L of the. followmg istrue? .- L )
K9 R S : (3)‘R < S S (4) None of these

’“riz Heal N o F P K 't‘ [N
e hRY %Z“?,‘\a‘-’,"‘t’ﬁ Al é ’x ] ATl TaA T . vt

sum total of thelr present ages. - K _
© (1)90 years = (2) 105 years i (3)110years @ 80“'ye‘a'rs‘ “

LI S TN

|35, Brassi
~and 16Y ?tm' A fused mass. of brass and bronze is. found to contam 74% of copper 16% of
ziiic,l,an :10%_, of tin. What i is the ratro of copper to zmc in Brass? .

(1) 64‘V nd'36% : (2) 33% and 67% . (3) 55% and 45% - (4) None of these'

s

‘ If A éang il the "tank i '10 hours rand B can empty the tank ifi 15 hours then ﬁnd how many
' "hours w111 1t take 10 completely filla half empty tank? :

A3); 0hs. (4) 3333 hrs

‘the | 'stance ona stralght road wrth a veloc1ty of 10 krn/h the next
of 20 km/h and the last one-thlrd w1th a velocrty of 60 km/h What is

(4) 15kmh .

W4 - -
SR v,

CaTmpasfoss o 7o g

34.. The present tatio of the ages of A4 and B is 4 :5.18 years ago, thls ratio was ll 16 Find the




‘ENGLISH

Directions (Questlons 39-40): Choose the word which best expresses the meaning of the underlined
word in the senterice. ' ‘

39. Ity Was a/an ignominious defeat for-the team. ‘ . .
(1) shameful (2) admlrable (3) unaccountable. -~ (4) worthy :

" 40. Frantic efforts were made to save the drowning child.

* (1)-Hopeless (2) Desperats .~ (3) Sincere ' " (4) Careful

Directions (Questlons 41-42): Choose the word which is opposzte in meaning of the underlined word
in the:sentence.: . =, . . , .

41, Savita, d1d not heed the disdain she had to bear at the hands of her step-mother
(1) penitence 2) humrhty ‘ (3) pride - - (4) admiration

42. H1s ﬁlends hked everythmg about him except hlS gahty '
(1) short temper . (2)(extravag‘ance ) shabbmess (4) punctuality

zdzom/phrase zn the sentence

43, Desplte bemg under debt Rahnn st111 keens a good table

‘ (1) keeps up an outward show of prospenty (2) entertams hlS guests sumptuously
o 3) helps his ﬁ‘rends w1th money (4) is hvely and gay when his frlends call
44, Hewas'a kmg who ruled his subjects with a high hand

(1) Qppr-esswely- (2) kindly . (3) sympathetrcally ‘ (4) wisely
45..‘ ‘» I“did ndt mind what he Wae saying as he-was ‘Qn_ly talktng throug- h ~his hat. .

(1) talking ingultingly . -~ - - . .. (2) talking irresponsibly

(3) talking ignorantly . ' 4) talking nonsense

JT/AJ2K16/05 .- 8
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3o

»(3) Entlepreneur (4).Entreapreneur

g; s :,w‘:,w-{j{."‘ .

‘_q!'*m":_. WY 0

) "So;féreignity (D Soyeriopnlty

LT L g

(2) Mamfesto ' m
(4) Clrcular . '
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" COMPUTER SCIENCE

52. Race condition always arises in a/an -
(1) analog to digital converter. - (2) digital to-analog converter.
(3 a_syn‘éhr,onOus circuit. (4) synchronous circuit, /
53. A serial adder requires o :
- (1) one full adder only. . (2) two full adder. ,
.. (3) more than two full adders. ~~ (4) one half adder.
54. " An up-d6wn counter is also called .
(1) forward/backward counter: . - - (2) bidirectional counter.
NE)) Both’_(_l) and (2) . S * (4) None of these
55. kThe fastest loglc famlly that does not operate fully saturated or cut off is .
- (1) Resistor Transistor Loglc _ L ) ‘ _ Cod
~ (2) Transistor -Transistor Loglc . ‘ :
(3) Emitter Coupled loglc 4 ' ‘ ;
4). Complementary Metal Oxide Senuconductor
56. Whlch of ‘the following programmmgs actually cortrols the path of the data within the
.. computer? = -
(1) Assemble language programrmng . (2) System p‘r.Ogramnnhg .
(3) _Mlc;o programmmg _ (4)‘ None_ of these S E
”The process in Wthh CPU of a computer takes instruction from the memory and execute them
is called S , , ‘ o ,
(1) clock cycle. - : , (2) fetch eXeoute cycle.
(3) instruetioﬂ ‘sequencilng. - (4) time sequencing.
58. T he total address space exceeds the size of physical memory in whloh of the. follow1ng‘7 '
M Pagmg : ; . @) Segmentatton‘ “
(3) Both; pagmg and segmentatlon S (4) None' of theéef |
59. The minimum size of ROM requlred to store’ the complete truth table of an 8-bit x 8-bit
' multiplier willbe __
) 32><1§kb1t_ @ 16k x16 bit ' (3) 64k x16 bit _ ‘(4) 64><16 bit
IT/A/KI6/05. "0
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65.
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60.

61.

! |
' f 62.

!
1; R :)

' 64.

66..

67.

The statement

printf(*% £, 8/5) prints t
1) 1.0 )16 3) 2.0 (4) garbage
A node can be inserted in a circular list at rear position by
(1) inserting at front pos1tlon of the queue.
(2) inserting at Rear-1. position of the queue. -
(3) inserting at Rear-2 pos1t10n of the queue

4 All these

Ina mrcular llnked list orgamzatron msertron of a record involves mod1ﬁcat10n of

(1) one pointer. - ‘ - (2) two'pointers.

(3) three pointers. (4) None of these

Which of the followrng types of operators has the highest precedence in C programmmg‘?
1) Arlthmetlc operator -
(3) Logical operator

(2) Relational operator
‘ (4) All have equal precedence

A hash table bas a space for 200 records Then the probablhty of the collision before the table is
10% full is

(1) 07.1 (2) 0.2 (3) 0.95 @1

The maximum number of bmary trees that can be formed with four unlabeled nodes is

12 ) 14 ()7 4 15
Which of the followmg number of nodes can have a full binary tree?
M7 215 (3) 31 "~ . (4) All these )
The order of blnary search algonthm is ,
(2) n’ 3 Exp(n) (4) Logn

(1) 2"

The Context Free Grammar (CF G) is not closed under
¢)) Product ‘ ' “ (2) Union.
3) Complementation. , (4) Both (1) and ¥))




69. Recursive languages are closed under .
(1) union. ~ - . (2) intersection.
(3) complementation. S (4) All these -

70.  Which.of the followmg statements is not true?
(1) The class of Context Free Language (CFL) is not closed under union
(2) All regular grammars need not to be regular
3 Accepted word can only form a language
“) All.these '

71. Which of the followmg data stryctures 1s mamly used dyring shxft—reduce parsmg‘? ’
(H Blnary Trees “(2) Pomters (3) Queues (4) Stacks

~ 72. Which of the following is discriminator of the weak ent‘ity?,
(1).Date = - : o (2) Transaction number
(3) Both (1) and ) - © 7 (4 Noneofthese

73. Inrelational Schema, each tuple is divided into fields called - -
L (1‘) Domains. (2) T_rees. . (3) Querles ' (4) Chain.

- T4, The employee salary should be greater than 10000 is . and'Manager’s salaiy detail
* are hidden from the employeeis _ ~ - ' _

€ 1ntegr1ty constraint, external level data hiding
"2) referen’aal constramt external Tevel data hiding

(3) integrity constramt physical level dafa hiding

@ mtegnty constralnt conceptual level data h1d1ng

75. Norma‘lizé.tiOn of database isused to- .+ -
(1) reduce errors. (2) improve security. .
(3)"e‘1iminate redundaricy. -7 (4) All these

e
P

76. The ‘extent to which the software can control to operate correctly desplte the introduction of

. invalid input is called I N
- (1) antivirus efficiency. = -~ . | o (2) performance‘ of the system._
3) robustness. - C Lo 4 reliability.
JT/A/2K16/05. : 12




ot

77..y Which of the followmg parts -of operatmg system ¢coordinates the activities of the other

program?

{Hceeu BN ¢ Mother Board (3) Supervisor ~ ~  (4) File Manager

. 78. Two‘comthands with different. names share the same code is called

(1) aliasing situation. (2) race condition. - (3) toggle condition. | (4) None of these

79. In networking terminology UTP means,

(1) Uniformly Twisted Pair . : ' . {(2) Unshielded Twisted Pair.

3) Unifqrm Terminating Pair. (4) Unshielded Task Pair.
~ 80. Different computers are conrtec,ted toa LAN b'}./ ' 4
(1) cable and modem. ' (2) cable and interface card.

. (3) special wires. . . ... (% telephone lines.

81. " In half duplex communication system,

¢))] transmission takes place in both directions, but only in one d1rect10n at a time.

(2) transmission takes place in one direction.
(3) transmission takes place in both directions'simultaneously.
(4) None of these

82. Web pages start with the tag

(I)<HTML>  (2) <BODY> (3) <HEAD> (4) <FORM>

83. Which of the following is location of map definition file?

(1) BIN - .~ () RECYCLEBIN (3) TRASH (4) CGI-BIN

-84, What is the ﬁmctiqrt of Markup Tags?
(1) It tells the web browser to organize the page. -
(2) It tells the web browser to display the page.
(3) 1t tells the web browser to update the page.

(4) None of these-
85. XMLis__ . - andtags elementin XML are :
-+ (1) declarative language, case sensitive ' (2) declarative language, case insensitive .
(3) imperative language, case sensitive . (4) imperative language, case insensitive
T/A2K6/05 - 13
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© s Y GENERALINTELLIGENCE I .

Directions (Questions: 1-2): Each of thesé-giestioris-has statements followed by two conchusions 1

and II. Deczde which of the concluszons follows from the statements.

Markanswer as ;. el A
©(1)if conclusion T follows. b SR
(2) if conclusion II follows. e T » -
_(8) if neithier conchision Inor II follows.~: ~ © Tu7 &
(4) 1f both conclus1ons I and I follow | o _
St G by ‘ LT T L. . Ty

!Qu

Dlrectlons (Questlons 3-4) Complete the series by replacmg <
3

PTHIEE Conp
LSRN LT A

Dlrectlons (Questlons’5-6) ana' the odd one out in each of these questtons

ol ‘Statement . Space has no grav1tat10na1 pull It has no atmosphere
- Conclusions: . Ry L g
" I "Gravity is due to atmoSpheric "pre,ssure.r‘ :

IL Ttis n'_ot..difﬂcult to bfeathe_ in spacie. -

.,t,.‘,;,(».l)t.-E1204s, @) C9L30 ee.,:(3)}J6P.4T c

‘_7.'

Conclusnons

. (1) P36W ‘,w% )

Statemeht: Computer hterates have good reasomng ab1hty Seema TJcan understand the

] puzzle qulckly

- L Seemais computer literate. | . -
* I1.”:Seema has good reasoning abllity;;‘ .

~t~ S 4‘,‘ ey

Z1C, W4E, T9H, QI6L, N25Q, * ‘@

HEER

P deiree heTead L g I T N WO IO
i,, SAERTT T B R /U CERIINRT F O e

A
B A

(4) 65 230,

(1) 69, 43i-sxict 2 s (2 (334 85

(4) G9P3S

. S ) "}-;_;r\;-“
Pomtmg tora:man in a photograph ’Sakshr sa1d "“His brother 18, the father of .the.son: of my
grandmother” How is Sakshi related to the man in the photograph‘7 S .
(1) Grandmece ’ (2) Nlece . L (3) Daughter o (4) Granddaughter

; JT/§/2K16/05“ o E ”:’\-_ S N 301/‘"'

v A s
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8. In a certam code, 1f ENGLAND: 1s1wr1tten as 1234526 andJFRANCE is wntten as 785291, how
. is GREECE coded? '

?_,5-,,.-;‘,(.-_1»\)_55;51.-17,:1;..3 @ e 542 3BLIL sec v 3) 832052 .. R ,_(4) 835545 e

‘m N AT B0 e v B LAGTI RO

E

1’, Kl

9. One day, Ramesh left home and cycled 10 km southwards turned r1ght and cycled 5 km and
turned right and cycled 10 km and turned left and- cycled 10 km -How.many kilometers will he
~ have to cycle to reach his home stralght?

(1) 25km - (2_) 20 km'

S ™

..",:-L}:g"“,r 1o fg‘“,.'l", Sy

NORUAT

' v\t»‘“q“l !‘33 C LB 7',,, Z{\t 'z“vh
-10.  Six students A B, C D E and F are s1tt1ng in the ﬁeld A and B are from De1h1 whlle the rest
_~ are from Bengaluru, D AT AR Al il thers are’short. A, 'Cand D are g1r1s wh11e others
_ are boys. Who is the tall girl from Bengaluru? N _ R
(1) F , . @E - (3)g " SHTIY (4) D‘ TR ‘

WA TR LR

. _A;_ Seven students Pradeep, Qadir, Rohit, Sushant, Tushar, Uday and Vlkas wnte a test senes
"B. Either Rohit or Sushant scores the hlghest in each test.

- C. Pradeep always scores less than Vikas.

. D ,_:Qadlr always scores less than Pradeep S .

- E. 'Each time- Roh1t scores the highest, Tushar gets the least. s T e Ty
F. Eachtime Sushant 'scores the; hlghest either Uday or; Qadlr scores the least g e st §
G. ‘Each student scores marks d1fferent from each other o U““ A Gty 'H' i -

1. ‘=In a partrcula’r test1f ‘SuShant is raﬁéd{ & ond which of the followmg can be true‘? S

(1) Uday gets more marks than Vlkas R 2 Vlkas is ranked ﬁfth '
'(3) Tushar gets more marks than Qadlr . 4 Pradeep 1s ranked 3rd Lo

| 12, In a partlcular test; 1f Sushant is ranked sixth- and Qad1r is ranked ﬁfth whrch of the following

can be true? . . . R
_ (1) Vikas is ranked: ﬁrst of Tourth, - e k o ‘(2) Roh1t is ranked second o th1rd e
' (3) Pradeep is ranked second or ﬁﬁh (4) Uday is, ranked third or fourth ;

| 13.. In a part1cular test 1f Rohlt is ranked second and Qadlr is ranked ﬁﬁh Wh1ch‘of the. followmg

>
40
a
s
"
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14. Which one of the followmg states/UTs has been formally declared country s ﬁrst digital

state/UT by President of Idia ity February 20167 =~ - . b
(1) Chandlgarh o .(2) Delhi 3) Gujarat ‘(4) Kerala
SORSLL LT ':-;t::{:. Co b o ;‘:f-;;__._, TN I L Y
K ‘lxrr ‘
15. Parhament building of __ .~ ,f became the ﬁrst in the world 1n February 2016 to
“completely run on solar power ’f * o
(l) UK ' Oy Japan oA 3) Pakistan '(4)'>Iri'done'sia

R ) ‘,r‘:‘a. P e S e, e wie ' :
16, Where did the four day bxenmal event Defexpo Indla 2016 Ind1a s b1ggest ever land naval and
homeland security exh1b1t10n take, place in March 2016?

(1) New Delhi - - (2) Goa___ . (3) Hyderabad (4) Pune* ¥

"17. Which arnong the following films has been selected as the Best Feature Film in the 63

National Film Awards for thecyear 26)15 announced recently?

(1) Piku - : o (2) Tanu Weds Manu Retuins
2L (3)‘Ba1rang1 Bhaijaan; - N (4) Baahubah The Beglnmng
: SOOI b et c‘irﬁ LCNTEIN {-v Do eraann LN Uy e

18. Johan Cruyff the famous footballI legend who passed away at the age of 68 due to lung cancer
belongs to s :

19. Which Bank in Ind1a has 1ntroduced the FERRARI range of co-branded cred1t cards in .
association with Itahan luxury sports car manufacturer, Ferrari in March 20167~ -

(1) C1t1 Bank . (2) Yes Bank i (3) ICICI Bank (4) Ax1s Bank .

ITC has launched 1ts latest offermg m the WelcomHentage senes called WelcomHentage
Haveli Dharampura in . -

.....

() Delhi. - (2) Shimla. (3) Chandlgarh @ Srmagar

L

R DR AT -”'?'.w.’ S el s AT i EH

,.2'1. The US President Barack Obama has recently made a h1stor1c 1V1s1t to Wthh -one of the

- following North-American countnes after a gap of 88 years by any US Pres1dent‘7

(1) Mexico - (2) Cuba" . _ (3) Honduras ' (4) Nlcaragua
» 3\@;; 1; ,’ “ . , T g e 3 '} . n,;-‘.,uz,(s_p’ “ s_t}."{; T ; ¥ _”, ooty . R
22 Where was {Iron. Flst 2016, tthe exercise for air power demonstratlon held by the Ind1an Air
Force in March 20167 :
(1) Gujarat:., - (2) Punjab. < ¢ ?.‘jv. - (3 Maharashtra (4) Raja‘Sthari' L

/B2KIS/05 -




23.

24,
. Myanmar Government along with three other Asian banks?

25.

26.

29.

(D Lossof5.625% - (2) Profit of 8.33%
" (3) Loss 0f 7.0% - o " (4) Profit of 5.60%

28.

The internet pioneer and e-mail inventor has passed away recently in USA at the
age of 74 years.

(1) Anita Brookner ° ) Raymond Tomlinson

- (3) Lloyd Stowell Shapley . (4) George Henry Martin

Which one of the following nationélized _Banks from India was‘ granted operating licence by

(1) Indian Overseas Bank (2) Bank of Baroda

3 Stq_tg Bank of India ‘ (4) Central Bank of India

Who has become the 7 Chairtnar of the National Human Rights Commission (NHRC) in
‘20167 - o S : |
(1) RM Lodha _ " (2) K.G. Balakrishnan

(3) HL Dattu : o (4) None of these

o

-

QUANTITATIVE APTITUDE

A man invests 10,000 in some shares in the ratio 2 : 3 : 5 which pay dividends of 10%, 25%l
and 20% respectively on his investment for that year. Find his dividend income, :
(1) T1900. . . (2) *2000 , (3) T2050 . 4) %1950

A music system when sold for 2 4500 gives a loss of 16.66% to the merchant who sells it,
Calculate his loss or gain per cent (approx.), if he sells it for 2 5703.75.

A shopkeeper buys an article for ¥ 400 and marks it for sale at a price that gives him 80%
profit on his cost. He, however, gives a 15% discourt on the marked price to his customer.

* Cilculate the actual percentage profit made by the shopkeeper.

(1) 60% Q) 64% 3) 53% @) 57%

A sum of money placed at conipound interest doubles itself in 3 years. In how many years will
it amount to 8 times itself? ‘

'(1) 9 years @) 8 years , . " (3) 27 years - (4) 7 years

If a principal P becomes Q in 2 years when interest R% is compounded half yearly. And if the

30,
- same principle P becomes Q in 2 years when interest $% is compounded annually, then which
of the following is true? , : , ' .
(DR>S : DR=S8 B)R<S (4) None of these
| JT/B/2K16/05 6
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:31. The present ratio of the ages of 4 and B is-4: 5. 18 years ?8.0’ this ratio was 11 : 16, Find the
sum total of their present ages. o :

o () 90 years () 105 Yeds - @) 110 years” - 7 (4)80years .

32. Bras.s 8 ;(m allb}{\ggﬁpppp;ﬁang:?z,ir;g; Bronze is.an alloy coptaiqi,ng‘iSO%.of copper, 4% of zinc
and 16% of tin. A fused mass of brass and bronze is found 'to contain 74% of copper: 16% of
zin€, and 10% of tin. What is the Tatio of copper to zinc'in-Brass? 1 L '
(1) 64% and 36% (2) 33%and 67% (3) 55% and 45% (4) None of these

wrplosoede i o
& AV

r
L ohs REIERr N W . comle
sl T3S N fo L

33. Ajay and. Vijay.undertake to,doja-piece; of work. for. % 200 Ajay alorie can_do,t.in:24 days

while- Vijay alone ‘can do it in 30 days. With the help of Pradeep, they finish the work in 12
- days. How much should Pradeep get for his work? ' '

S Mr20 - 22100 BRI 4 250

- o N ; PR N B . RO N
~ LY NS e I S A I L I Lher, . P .
B IR T TN B Y P A A AL tx T PRI M AN

b
s L -

- 34. Thér.e are two pipes in a tank. Pipe A is ‘for‘ filling the tank and Pip'é' Bls for emptymg the tank.

hours will it take to completely fill'ahalfeifipty tanko" 7% - ! i
(1) 30 hrse ot @) 15T 5 53)00 by R (4) 3333 s

R ST SRR p g
P givy SUMLBAISIN N gt v e (R PRI PRI s

« If 4 can fill the tank in 10 hours and B can empty the tank 1{1 135 hours then find how many

35. A car travels one-third of the di‘stahce ona Straight road with a velocity of 10 km/h, the next
one-third with a velocity of 20 km/h}ang ytxlg%lgshtqgge_-t‘hjgg,avyij;ﬂhga,ye;logjt_y of 60 km/h. What is
the average velocity of the car for the'wholejourney?”™ " " ¥ ¥ & -

PE

(D 18km/h ™ Gy igiERe T @20kl @) Sk

36, Ifa number is multiplisd by 22 brid e sarhe mimbier is added to'if, theti-we get a number that is
half the square of that number; Findithe number.. -’ e 1

W45 D46 by (34T -~ (4) Data insuficient .

37.. The average of z, y and z is 45, x i as miich more than the average as y is less than the average,
- Find the value of z. L : o

e g -:;‘"»ﬂgf g TR Ay Bepss ;;‘5'«‘*‘&, i-‘*{f:- Y ':;*:,‘ R Srsa St ey Sh
SR \(1) 45 DR ‘ L ‘.‘n‘.va (2).425 MR SUL T b, (3)354 R N
. . : ; : : 1:““')'5- Ty v SRR

38. .In yyhgtﬂ:jr@ﬁgjshguld water bevmlxed :with soda costing ¥-12- per litre so as-to make, a pr‘bﬁt of

_ 25% by selling the diluted liquid at ¥ 13.75 per litre? ‘ N
@111 @121

o SEa T LY

I/B/Kisf0s 7w




ag! bui' ;%4 -1 i ‘o £ 4 f EAfENGLI‘.SH. u‘iz S A
v . . i ._, . N ‘ o L Aj T o, g‘v N 1 “‘J ','
Dlrectlons (Questlons 39-40) Choose the, wqr;d whtch is opgqsite m rﬁeanzng of the underlmed word i
in the sentence o L ’ i
4‘ ) . » .. . l
Uk TR T T e T SET S onfr fuedh e B cg i el
39 Savnta did ot heed th ‘dlsdam sheh dt be 4t the hands 6f her step-zmpther ’ .
KT ».I 5 pitalatie NG eOnE ity fo b Em T ', edaie A !
' (1) pemtence (4) adm1rat10n : .
S S mJT/‘-";{L . , i ooF by, i T
40. His friends liked everythmg about h1m except h1s gahg[ i
gLt (l)zshort temper-f‘ iy 5(2) extravagance >“(3) shabbmess 3
: -.."Ti u. drrts s vl noshesd 3o ,s: W i !
2 {I,,; . a8y CgET ' B ooy - o I

Dlrectlons (Questlons 41-43) Choose the option whzch best expresses the meamng of the yunderlmed
idiom/p hrase in the sentenc K . Lo
AT € i BNy E
ytaed o baf t ;
41. Desplte bemg under debt Rah1m Stlll keeps a good tabl : - N
b P Y N A B " H i \il‘

63} keeps up; an'outward show of prospenty (2) entertains h1s guests sumptuously

(3) ‘helps'his ﬁlends w1th money (@) is hvely and gay when his frlends call .
feto] em; ; i«mu ’} ; 5:, LS TR ’ ERRSEN 5 ‘_:1
5% St 18 *w ey b of 73
42’““He was a kmg who led h1s s’ilb_] ects “afhlgh' hand. X
. SUDTSICTATEY o VOE) LE
(1) oppress1ve1y S (2) kmd% Y. e sy (3) sympathetlcally (4) w15e1y, T o
: By - '3"7‘} » .Q ;/ va

-, 3is1] 1& Illpt m;nd whatpe \Mas3s

ERFE H&”V &

(1) talkmg msultmgly

P&mﬂhMﬂw%uw@»~fpx€ !

(2)-talking iffesporisibly =

=

14(3) ’fé’llﬂng 1gnorant1y Thiel . (4) talking nionsehse ” ; '

i

.f:!:;_f!f ‘v:amm: r}.m S niE med mi LR

i ) P oran oy v
Du'ectlons (Questmns{ 44-45) -4 word has been wrztten in four di ﬁ’ g nt ways out of whzch only one '}
is correctly spelt Choose the correctly spelt word . N I
4 1 (1*) Entreprenue 6% 5 (2) Entrepf NS S0oe f(S) Entreprene“’ s & g*fh’(4)’Entreapreneur ait R
: L ol wan BV %bf’n o"“*“fﬁ:,w.‘% _'”3’&: Wl o
(1) Sovenegnty (2) Sovere gn (3 Soverexgmty : 4) Soverlegmty o
JT/B/2Ka6/0S. . . T8 g !




Directions (Questlons 46-47) In-each of these"questzon“ ”ehf"o‘?ose the word which can be substituted
for the glven sentence/words

46, Apubllshed verbal declaratron of the mtentrons motrves or v1ew &v“f} h‘ gohtrcal party
(¢)) Agendaw 23 DU ',gjt:\mg;}‘“ - (2) Manifesto ) - RS «,;ﬁ;
-3) Report B R (4) Crrcular
- ' o “'e Ao fieog :; i d el salous f 1t bateand o

. 47. Somethmg appeanng to be true or real only unt11 exarmnedrmore glose,ly;r«;; ER

(1) Superﬁclal ) S o (2)pSupérstitiousss -
(3) Superﬂuous L S re:r(;ét);eSupematurals::g Srafl,

.

: . AN
Directions (Que tibi s "'49)’“\“1 '“'e"a"chl’ofithese questtons choose“the Bést }Jf o to’i'complete theﬂ
.sentence : ; : Py e {1

r»l .'

(l) he w1ll fot suffer. ~ _ -
LIt u.‘.i@l*ﬁ::(’ b 13R q\J)i‘“\ i) AT‘ T8 l‘:ﬁ'!, e Hs
(2) his health w111 soon. be recovered - Mx
3y \gu,L fRR i8N ’. 7'
- (3)he w111,n‘_t’recoye‘rx. 3 ' ;
)] will he be able to. recover =
2 slduy et g mﬂ folzilins adl 1o “trtrﬁf i s wer T .abiooes 00€ 161 aosy <’
N w ; "r. ¢ o
. 49: George 1s so lazy that he BEAEE ,
(D). can’t depend ‘upon others for gettmg ‘his work done. " . NOE)
(2) can seldom complete his work on tnne o e
. & iy F 2 ol TR T3
e (3) always extends help”to’otlfér t5 %ﬁmplete thelr workﬁ ssaie] do ediuis o e
RCIaE -~
(4) always completes his work on tlmef S - s
e saved oo sabon o ‘ﬁ‘iit{“.rm*f_‘ 3}%‘@1";::?.,."\*-,-"»’5? Beki o ol it

'

emr

. . ; £ <
, Dlrectlons (Questmns 50-51) Choose the w d whzch best expresses the meaning of the underlzned
_word in the Sentence.

RIS S ’ L gbmigls duisen vamia o o adT L8
50. - It was a/an gg minious defeat for the;te"a;rl “““““““““““ S , ) _ By
. (1) shameful (2) admrrable . (3) unacc'ountable ' (4) worthy |
. Coeh s yohan Baacio sof el (EFT0) 1 mimert) a“‘u“l Igein {1
51. ,Frantlc efforts were made to save*the drownmg child. ) B R
) Hopeless o (2) Despe"l””aite £} (3) Sincere - oy *17(*4)"*Gar"e:ﬁ_il'~* i
UT/Bfkie/os . - 9 .af




B 52. Thestatement o _:‘ o S
- Pnntf(“%f” 8/5)pr1nts
(1)10 o (2)1‘6 i (3)20 I

4”"

,.\
E .

. g
8.
-
%

»
i

L 53 A node can be mserted ina crrcular list at rear posrtron by . NS ‘ o r

- - (1) inserting at frorit:position of the quistie. 11 i e SRR PR
(2) 1nsert1ng at Rear-1 position of the" quidue. _' . T
3 1nsert1ng at Rear-2 posrtronrof the queue ' S o !
(4)Allthese SRR TR s .

AN

’ 54 In a clrcular hnked hst orgamzatlon,ﬁ 1nsertlon of a record inyolves:modification of - , }._,..J,._.‘ ~~~~~ “
| (1) one pomter . (2) two pointers, : R
e thr.ec po_mterS-

W_(‘}:)'_None of,these R S

BBV

55, Wh1ch of the followmg types of
¢ l) Arithmetic operator:.
(3) Logrcal operator

perators has the hrghest precedence in C programmmg? ' - o
(2) Relatlonal operator R _ ‘~‘ :
(4) All have equal precedence ' -

‘l-.i

l‘,

i el A

. 56 A hash table has aspace for 200 records Then the probabrhty of the colhsron bef
IR 10% full is

ore the table is ! i

‘ (1)01 ool (2) 0 2 "y e ’i(3) ‘0 95 :f‘; b (4) 1 T ‘ i ‘ \:
57.. The maxrmum number of bmary_ trees that can be formed wrth four unlabeled nodes 1s~ c . : ,
(1) 12 @4 . AT SRR ) & R R 4
58. Whlch of the followmg number of nodes can havea'full binary tree? Lo S r ’
et @7 D3 - e G DI @Alese
i ‘;w!ﬁif : o Yl 1 R S I S !
;59 Theorderofbmarysearchalgonthmrs - S e G ;
| (l) 2“ A, (2) Wt (; (3) Exp(n) b Lol Logn
» Lot OB - g Ty oo shilsirisn u o T et |
f60 The Context Free Grammar (CFG) is. not closed under IR e _ :
() Product. - R ¥ P gt (2) ’Umon w2 0 b I T f
»(3)“.(:0.1;;11!’.,199131?@“011- e -:L‘j;:z;; B (4) Both (1) and (2) wenler b ,‘ * ;
nspkaees S 0. o WAL oo




Te

(1) union. » »
®) _complementation. N

(1) The class of Context Free Language (CFL) is not' closed under umon
{03 All regular grammars need niot to be regular
- (3) Accepted word can only form7a langpage

(4) All these M L] SO

63 Whlch of the followmg data structures is mamly used durmg shrﬁ-reduce parsmg"
( 1) Bmary Trees i ' (3) Queues - :ggé?)ifs‘taék's" T

s sy Sarn el ek
Sadal L 0 BT

esg2 ORT LT

64 Whlch of the followmg is dxscnmmator of the weak entrty" ‘
(1) Date R )] Transactlon numbe]r. o~
(3) Both (1) ,d(2) i ' 10 None ofthese -

S rEndd

".,ax;

S e el e L

u,l‘l

65 In relatlonal Schema, each tuple 1s d1v1ded mto fields called

} VR AT T bx
(1) Domams o (2) Trees (3) Quenes

. 66. The employee salary should: be greater than 10000 is s
.are hidden from the employeedis . . e T '

‘“-—~\*u‘vr E Lhy i.b T - ’f{ LAY

(1) mtegnty constramt extemal level data hldmg
(2) referentlal constralnt, extemal level data hldmg

et

SR e ' gt T R
67 Normahzatlon of database is used to | an ,, 2 e el o S8 e
(1) reduce errors.” T e :j: 2 R .nnprove securxty i L gl
o eliminate redindancy.. S T O ALSE et ey -
68 The extent to. whlch the software can control to operate correctly desplte the 1ntroductlon of
~ invalid input is called ‘ AT R s e B \'__r_w T

. (1) ant1v1rus efﬁc1ency ;ﬂ (2) _perf, n_nance of the, system

(4) rehablllty o

epKefos o qg E N C

%
~ -
.
. -
-
.
v



69. Which of the following parts of operating system. " coordinates. the activities .of -the other
program? 4 BRI Ly -
(1), cpu (2) Mother Board (3) Supervisor ...(4). File Manager

70. Two commands ‘with different names share the same code is.called . : ... . L
(1) aliasing situation.. (2) race condltlon ¢ (3) toggle condltlon - (4) None of these

TR TR AL

71. Innetworking terminology‘UTP means',

, p _ S s R sl e

(1) Uniformly Twisted Pair. (2) Unshielded Twisted Pair. ...
(3) Uniform Termmatmg Palr : (4) Unshielded Task Pair. '
=‘»-';:=,"'_,f e RE I ?"i Cewpes e P AJ,'.S.E, IPTA A I S ’ i i
72. leferent computers are connected to. aVLAN gby T T .
) cable and modem. - e (2) cable and intérface card. o '\ 1
(3) special w1res. o . (4) telephone lines. . . ' ‘ " {
R e FRT TR CMER GO I TLERE B3 SURE ,
) 73. In half duplex commumcat;o system : ‘ - , ;
/(1) transmission takes place in both dlrectlons but only in one direction at a time.” } §
(2) transnnss1on takes place in one direction. o , N . ! ’
(3) transmission takes place in ‘both” dlrectlons s1mu1taneously p dam S -
4 Nong" 6F these ) 310 ) FiF RLhne ] | f
’ r;-ﬁ‘;-«'\" s 1“- [P - i
74j al: Web":pages start with the tag .- OUGGE i T TR T o
(1) <HTML> . (2 <:13()I)sr:> (;) <<I{IEA& ‘:> FET Y <FORM> ‘ o
iyl BRI B 213k e aiLE S b b o
- : - B AR ok
75. Whlch of the following is location of map deﬁmnon ﬁle‘7 c e ' R 1 {
() BIN .~ 2) RECYCLE—BIN COBYTRASHY © (4y CGI-BIN "~ H

: » oy AR et I IR VP R C i
76. - What is the functlon of Markup Tags" .

(1) 1t tells the web browser to. organize the page Ny .
(2) It tells the web browserto’ dlsplay ‘the ] page. o SO A 1
(3) It tells the web browser to ‘update the page Sl Ty ’
(4) None of these -

TR S TIEA BT R SR Lenn gge e fan atoauis
77. XMLis and tags elementhMLare : B
(1) declaratiVe 1anguage dase sensmve (2) declarative language case 1nsens1t1ve
€)) 1mperat1ve language case- Setsitive:” (4) 1mperat1ve language, caseé ‘insensitive
JST/B/2KI6/05 o iz
o o B = ——: A;M" T




ﬂw E:) A ./:,:‘ "R :A‘.“t"“,v‘i‘:—l
(1) analog to digital converter a ', - (2) digital to'analog converter
' ‘(3) asynchronous c1rcu1t P " '(4) synchronous circuit.
X 'A serial adder requires N ‘ :
(1) one full adder only. " (2) two full adder.
" (3) more.thaﬁ two full adders. - (4) one half adder.
An up-down ‘counter is also called . , :
(D) forward/backward counter ' . 2) bidi_rectional counter.
(3) Both (1) and (2) T (4) None of these
81 ,The fastest loglc famlly that does not oper'ate ﬁJlly saturated or cut off is
‘ '(1) Resistor Transistor Logrc
(2) Transrstor -Transistor Logic. . . \
| (3) Enntter Coupled logic:
} (4) Complementary Metal Oxrde Semlconductor
82. Wthh of the followmg programmmgs actually controls the path of the data within- the ‘
‘ computer? ' |
)] Assemble language programmmg - (2) Syster‘n programming
~(3) Mrcro programmmg T (4_) None of these
83, »‘ The process m whlch CPU of 2 computer takes 1nstruct10n from the memory and execute them
" iscalled _ - : ‘
(1) clock cycle S o (2_) fetch execute cycle.
(3) 1nstruct10n sequencmg P " (4) time sequencing.
84 The total address  space exceeds the size of phys1cal memory in which of the followmg‘?
6y Pagmg L s SR 2) Segmentation
NE) Both paglng and segmentatlon R (4) None of these
.. 85, The rmnnnum “size of ROM reqmred to" store the complete truth table of an 8-b1t X 8-b1t ‘
* multiplier will be . .
@ _32_><1_6kb,1t» ) 16k ><l6 b_lt’ . ,(3) 64_k x16 bit (4) 64x16 hit )
L upkasles 13 sk i T B R AT D
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35 - PART B. | certify that these are correct.
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IMPORTANT INSTRUCTIONS
1. Read carefully the instructions in the Question Booklet.
2. Each question has four answer options. Mark the answer
option number by darkening the corresponding oval. Shade

only ONE oval.

3. For marking answer, cbmpletely darken the chosen oval as
shown in the correct method below :

Correct Method O @®® Wrong Method ) @O ®

4. Once an oval is darkened as answer to the question, it is
final. Any change by erasing, using fluid and making cross (X)
in the oval is not permitted.

5. Make no stray marks on this sheet.

6. Non adherence of any instruction will lead to the cancellation
of candidature.

7 There will be 25% Negative marking for every wrong answer
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e GENERAL INTELLIGENCE
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Dlrectlons (Questlons 1-2) Complete the series: by replacmg T e

;_;l*’a TR
"1 7ZIC, W4E, T9H, QI6L, N25Q, v | aema a
T R

e

2. . 2AD4, 3EH9,‘4IL16, SMP'25:;:,‘_?’ EEEEE . 5
(1) 6MS36'*" " - "()6QTI6 L 7 3EPII6 T T G 6QUIE - - ‘

R
Diréctions (Qiiestiotis 3-4): Find the odd one outin‘éach-of these questions. ~ *= '~ -

3. (1) 69,45

@ L @Mes T @6

A S LI

4 (DEROSS - T @030 (I - @oorss, |
RN A TR S T P § ‘;;»"-” 5 ."‘ EY P !.;"li: ""'ﬁf v ivi BT L “ ‘»‘v H -, : o

,._x__ ..

e g ¢ e e o

5 Pomtmg to 3. man in a photograph Sakshr sald “H1s brother is the father of the sori. of my
-grandmother” How is Saksh1 related to the man in the photograph‘7

.(1) Grah_dmege . (2) Nreco . (3) Daughter 7»' ‘ (4) Grarr_ddaughter_

: 6. Ina certarn code, 1f ENGLAND is wntten as 1234526 and FRANCE is wntten as 785291 how
is GREECE coded? , o T 5
(1) 381171 - - ’(2) 38,119?1 - ~(3)‘8322"52'~- S 'i'(4) :835545

L.

7. .V One day, Ramesh leﬁ home' and cycled 10 km southwards turned r1ght and cycled 5 km and
turned right ¢ and cycled 10 km and turned left and cycled 10 km How i many krlometers wrll he l
have to cycle to reach his home straight?- :

(1)25km (2')20'k.m - »(3')fi'5f'k1j_;{:..';' j_;,*,_,(,ét). ’1:0‘kmf "

‘8] Six’ students A B.C, D ‘B and Fare s1tt1ng if the field. A and B are from De1h1 while the rest _ |
are from Bengaluru D and F are tall while others are short: A C and D are grrls whrle others

are boys Who is the tall girl from Bengaluru? - _ f
NOL C (2)E . (3)c (4)D -
T/CiKIe0s . L mw 301/1%
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. Directions (Questions 9-11): Study the following information carefully to answer these questions.
Seven students Pradeep, Qadir, Rohit, Sushant, Tushar, Uday and Vikas write a test series.
Either Rohit or Sushant scores the highest in each test. ‘ =
Pradeep always scores less than Vikas:
Qadir always scores less than Pradeep. : :
Each time Rohit scores the highest, Tushar gets the least.
. Each time Sushant scores the highest, either Uday or Qadir scores the least.
Each student scores marks different from each other.

amEmY oW

9. Ina par_ticulat test, if SuShant is ranked second, which of the following can be true? |

(1) Uday gets more marks than Vikas. - (2) Vikas is ranked fifth.
" (3) Tushar gets more marks than Qadir ~ (4) Pradeep is ranked 3rd.
10. Ina partlcular test, if Sushant i is ranked sixth and Qadir is ranked fifth, which of the following
- can be true?
(1) Vikas is ranked first or fourth: ~°~ . (2) Rohiti is ranked second or third..
(3) Pradeep is ranked second or fifth. (4) Uday is ranked third or fourth.

11. Ina partlcular test, if Rohit is ranked second and Qadir is ranked fifth, Wthh of the followmg
must be true about Tushar’s rank?

> (1) Fourth- Y2y Third. - . . .. (3)Seventh (4) Sixth

' Dlrectlons (Questlons 12-13): “Each of these questzons has statement‘s followed by two concluszons I
and II. Decide which of the concluszons follows from the statements.
Mark ariswer. as “ -
(1) if conclusion I follows.
- (2) if conclusion I follows. - -
(3) if neither conclusion I nor II follows
(4) if both conclusmns I and I follow

~

12, Statement ; Space has no grav1tat10nal pull It has no atmosphere.
Conclusions:

L. Gravity is due to atmospherlc pressure:
II It is not difficult to breathe in space

13, -Statement: .. Computer 11terates have good reasonlng ability. Seema can understand the
. puzzle quickly.

Conclusmns

1. Seema is.computer hterate “
II. Seema has good reasoning ability.”

JT/C/2K16/05 , - .4
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14. " Johan Cruyff the famous football legend who passed away at the age of 68 due to lung cancer
belongs to

(1) Spain. . = . '(2) D.utch. ’ 5 (3) France. ' (4) Germany. -

15. Whichi Bank in India has introduced the FERRARI range of co-branded credit cards in -
association with Italian luxury sports car manufacturer, Ferrari in March 20167

() CitiBank - . (2) YesBak . 4(3) ICICI Bank . (4) Axis Bank

16. ITC has launched its latest offenng in the WelcomHentage series called WelcomHentage.
. Haveli Dharampura in

() Delhi.* -~ . (2) Shimla.'» T (3') Chandigarh. - @ S_rinagar.

17. The US President Barack Obama has recently made a historic visit to which one of the
following North-Amétican countries after a gap of 88 years by any US President?

() Mexico © - (2)Cuba - " (3) Honduras =~ (4) Nicaragua

18, Where was ‘Iron Fist '2016’,. the eiercise for air power demonstration held by the Indian Air

Force in-March 20167 _
(1) Gujarat "~ ° (2) Punjab . - (3) Maharashtra '(4) Rajasthan -
19, The internet piogeer and e-mail "inventor-l - i has passed aWay recently in USA at the
age of 74 years. _ ' :
.. (1) Anita Brookner, I o (2) Raymond Tomhnson \

3). Lloyd Stowell Shapley T (4) George Henry Martin’

N

20. Which ‘oné. of the following nationalized banks from India was granted operatmg hcence by
Myanmar Government along with three other Asian banks?

.+ (1) Indian Overseas Ba_nk' Y . .. : (2)Bankof Baroda o
i(3) State Bank of Indiaf B '(4) Central Bank ef India

21. Who has “become the 7t Cha1rman of the Natlonal Human Rights Comm1s51on (NHRC) in
20167

URMLodha - (2 K.G. Balakrishnan
(3) HL Dattu, . oL (4) None of these
IT/¢/2K16/05 , - 5




22.

Which one. of the following states/UTs has been formally declared country s first d1g1ta1’
state/UT by President of India in February 2016? ,

(1) Chandigarh (2) Delhi . (3) Gujarat .(4) Kerala

Parliament building of ' __became the first-in the world in February 2016 to’
completely run on solar power. .

()UK . - (2) Japan - (3) Eakistan 4 (4) Indonesia

Where did the. four day biennial event, Defexpo India 2016, Indxa 8 blggest ever land, naval and
homeland security exhibition take place in March 2016?

'(1-)_New Delhi .~ = (2) Goa N €)' Hyderabad @ Pune

Which. among .the following films has: been selected as the Best Feature Film 1n the 63rd

_ National Film Awards for the year 2015 announced recently?

() Piku . ... (2) Tanu Weds Manu Retums
-(3) BaJrang1 Bhaljaan

"~ .. (4 Baahubali: The Beginning

. QUANTITATIVE APTITUDE

Ajay and Vijay undertake to do a plece of work for ¥ 200. Ajay alone can do it in 24 days
while Vijay alone can do it in 30 days. With the help of Pradeep, they finish the work in 12
days How much should Pradeep get for his work? |

@ z20 - @200 - (3) TI80 ~ 7 (@) T50

There are two p1pe§ in-a tank Pipe A is for ﬁlhng the tank and Pipe B is for emptymg the tank I
If A can fill the tank -in 10 hours and B can empty the tank in 15 hours-then find how many
hours will it take to completely fill a half empty tank? '

(D30s . .-2)15hm (3)20bts . (4)3333hs

A car Atravele oneythird of the ‘distance on a straight road with a velocity of 10 km/h, the next
one-third with a velocity of 20 km/h and the last one-third with a velocity of 60 km/h. What is
the aveérage velocity of the car for the whole journey? :

Y] 18kn1/h, PR IOkm/h (3)20km/h () 15km/h-

23,
1.
2- .
5 24,
'4,
- 25,
5.
6.
7.
26.
1 A
o 27,
1.
1
1 28
1
29,

Ifa number is multiplied by 22. and the same number is added to it, then we get a number that is

_half the square of that number. F1nd the nuimber.

M4 . - . @4 . @@ Data insufficient

JT/C/2K16/05 L o 6




30 The average of X, y and:z is 45 x 1s as much ‘more than the average as y is less than the average.

31.

32.

33

34,

- 35.

36

'37

38,

. Find the value of Z.

(1)“45_: PR O 25 | (3) 35 . (4) 15

In what ratro should water -be mixed with soda costmg ? 12 per l1tre so as to make a proﬁt of
25% by sellmg the diluted liquid at¥T13.75 per litre? . ' -

@10:1 @7 @ 11' | (4) 2:1

. ',; 1‘:‘ ! .;.}’)'. " v .
A man mvests % 10,000 in some shares in'the ratio 2 ; 3 5 Wthh pay d1v1dends of 10%, 25%
. and 20% respectively on his investment for that year. Find his dividend income.

(1)?1900 (2) ?2000 o (3)?2050 e (4)1'1950

AP . :.'-;--\'.;;- P Yo T Co A kR

A mitisic: system ‘when sold for ¥ 4500 grves a loss of 16 66% to the merchant who sells it.
Calculate h1s loss or. gam per cent (approx ), 1f he sells it for ] 5703 5 :

. (1) Lossof 5.625% . () Profit of 833% e
(3) Lossof70% A o _’ (4) Pr°ﬁt°f560% . )

[ TR
HESIE e
sLlattaf

A shopkeeper buys an article for 3 400 and marks it for sale at a pnce that gives h1m 80%
- profit orhis cost::He; ‘however; "gives.a  15% discount on-the ‘marked" price-to -his .customer.
Calculate the actual percentage profit made by the shopkeeper.

aye% . - @ 4% .(3) 53%. (4) 57%

A sum of money. placed at compound 1nterest doubles itself i n 3 years. In how many years will
it amount to 8 times 1tself‘7 '

()9 years e TLQ"‘-‘."‘; (2) 8fyears (3) 27lyearSc SR (4) T'years ; a..-_”" -

If a prmcxpal P becomes Q in 2¢ years when mterest R% is compounded half: yearly And if the

same principle P.becomes Q in 2 years when interest $%is compounded annually, then which
of the: followmg is true‘? A . , TR

(1)R>S . (Z)R S (3)R<S (4)Noneofthese

The present ratio of the ages of. A and: B is: 4 5.718 years ago th1s ratlo was, 11 16_,'_, Find the
sum total of their present ages. . » '

(1) 90 years . . (2),105 years, "_ (3) 110 years 'A (4) 80 years‘ .

Brass is an alloy of copper and: zmc Bronze s‘an alloy contammg 80% of copper, 4% of zinc
- and 16% of tin: ‘A fused mass of brass.and bronze is;found to: contain 74%,_o_£ copper, 16% of .
zing, and 10% of tin. What is the ratlo of copper to zing in Brass‘? o :

(1) 64% and 36% e (2) '33% and 67% . (3) 55% and 45% ,(,,4)1 None ojflt“hes'e




©eo  ENGLISH

Directions (Questlons‘39-40) A word hds ‘been written in four dszerent ways out of which only one
zs correctly spelt Choose the correctly spelt word '
39. (1) Entreprenuer F;"(S;)‘_En’crepreneur’. @ -Entr’ear;reneur

¥ S
: ¢

(2) Entrepraneur

40. (1) S_o_veriegnty 2 Sovereigngy _ 3) Sovereignity @) Soveriegnity

tions, choose the word which can be substituted

‘Directions (Questlons '41-42): In each of these ques
for the given sentence/words . e

e e e e

41. A published verbal declaranon of the mtentions‘, motiﬁeé, ot views of the pohtrcel party
(1) Agenda © (2) Manifesto o :

(3) Report e (4) Circular
42 Somethmg appearmg to be true or r
_ (1) Superficial - -
| (3) Superﬂuo{is'L -

eal only untﬂ exarmned more.closely- -~
© (2) Superstitious - : o
4) Supematural , S

s, choose the best optzon to complete the

Directions (Questions; 43-44): In each of-these questzon

sentence.

4} ‘ The doctor wams s him thatunless hegwes upsmokmg, b PO
m he will not suffer ' : '

" (2) his health-will soon be recovered.

(3) he will not recover. - a

(4)W111hebeabletorecover R :

44, George "18 50 lazy that he
(1) can’t depend,upon others for, getting tns work done., .. . . -

+(2) can seldom complete his-work on time..

3) always extends help to others to complete their work. -

4) always cormpletes his work on tine.

JT/C/2K16/05
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: zdtom/phrase in the sentence

Directions (Questions 45- 46) Choose the word which. best exp; esses the meaning of the underlined
word in the sentence :

45. It was a/‘an—lgnominious defeat for the team. o :
(D shameful = - (2) admirable : (3) unaccountable (4)-worthy

46. Frantic effoits were made to save the drownmg child. A '
(D) Hopeless ) Desperate ~ (3) Siricere (4) Careful

Dlrectlons (Questlons 47-48) Choose the word whzch is opp'osz'te'in meaning of the underlined word
in the sentence. S

¢

47. Savita d1d not heed the d1sda1n she had to bea1 at the hands of her step-mother

(1) penitence = - (2) hum111ty . .(3) __prlde a (4) admiration

48. " His friends liked everything about him except his frugality, |
¢} short temper 2) extravagance (3) shabbiness ~ (4) punctuality

O N T N

Dlrectlons (Questlons 49- 51) Choose the optzon whzch best e)tpresses the meanzng of the underlzned

sl .

49, Desplte belng undeér debt; Rahlm t111 keeps a good table.

(1) keeps up an outward shoiw’ of prosperlty (2) entertains his guests sumﬁtuously
(3 helps hlS frlends with money . -(4) is liv‘,e'lyﬂand gay when his friends call

50. He was a Kinig who ruled his subjects'with'a highhand: -+ - _
( 1) oppressively .- '(2) Pkindly ‘ .‘ (3)« sympathetically - (4) wisely
51, 1 d1d not mmd What he was saymg as he was only talklng through his ha _
© (1) talking msultlngly o - (2).talking irresponsibly ... . -

(3) talking ignorantly - = (4) talking nonsen_se ST

jc/kifos 9
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: COMPUTER SCIENCE

.52.  Which of the followmg data structures is mainly used during shift-reduce parsing?

(1) Binary Trees (2) Pointers -

(3) Queues

(4) Stacks

53. Which of the following is discriminator of the weak entity?

(1) Date
(3) Both (l) and (2)

(2) Transaction number
(4) None of these

54. In relational Schema, each tuple is d1v1ded into fields called

(1) Domains.- (2) Trees.

55. The employee salary should be greater than 10000 is

are hidden from the employee i8
(1) integrity constraint, external level data h1d1ng

2) referential constraint,

(3) Queries.

4) Cham

-and Manager 8 salary detall

external level data hiding

?3) 1ntegr1ty constraint, physical level data hiding
(4) mtegnty constraint, conceptual level data hiding -

56. Normalizatio_n of idatabase is used to
* (1) reduce etrors.
?3) eliminate redundancy. '

2) imptove security.
(4) All these

57. The extent to which the software can control to operate correctly despite the lntroduction of

. -invalid input is called
- (1) antivirus efficiency.
(3) robustness. '

[ T

(2). performance of the system. .

(4) reliability.

58. Which’ of the following parts of. oper ating system coordinates the activities of the other

program?

)] CPU (2) Mother Board Vo

(3) Supervisor (4) File Manager

59. Two commands w1th dlfferent names share the same code is called

)] ahasmg s1tuat10n (2) race condmon

60. I networkmg termmology UTP means,
(l) Uniformly Tw1sted Pair . '
3) Umforrn Terminating Pair.

;JT/C/2K16/05 T 10
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3) toggle condltlon “ (4) None of these

(2) Unshlelded Tw1sted Pair.
4y Unshlelded Task Pair.




- 61

62.

63. ~ |
C(I)<HTME> -  "(2)<BODY> - (3) <HEAD > - (4) <FORM>

64.
65.

66.
67.

68.

69.

Different computers are connected toa LAN by "

(1) cable and modem. : (2) cable and mterface card.
.(3) special wires. : -© (4) telephone lines.

In half duplex communication system, :
(1) transmission takes place in both directions, but only in one direction at a time.

(2)-transmission takes place in one direction.

(3) transmission takes place in both dlrectlons s1mu1taneously
(4) None of these )

Web pages start with the tag .

Which of ‘the-follohwing is location of map definition file?

(BN - (2) RECYCLE-BIN  (3) TRASH - (4) CGI-BIN

VWhat is the functlon of Markup Tags? =

(1) It tells the web browser to organize the page.

'(2) It tells the web browser to display the page.
“(3) It tells the web browser to update the page

(4) None. of these .

XML‘IS ~ and tags element in XML are ‘

(1) declarative-danguage, case sensitive (2) declarative language, case insensitive
(3) 1mperat1ve language, case sénsitive  (4) imperative language, case insénsitive

Race condition always arises in alan . .
(1) analog to digital converter. ‘ . (2) digital to analog converter.

(3) asynchronous circuit. - L ~(4) synchronous circuit. -

A serial adder requires

(1) one full adderonly, -+ {2) two 'full adder. -

(3) more than two full adders: o (4) one half adder.

An up-down counter is also called A ~
M forward/backward counter.” - R (2) bidirectional counter,

(3) Both (1) and (2) T .~ = . (4) None of these

/
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70.

71.

72.

73.

74,

73.

76.

77.

The fastest logic famlly that does not operate fully. saturated of cut off is .

- (1) Resistor Transistor Logic::

) Transistor -Transistor Logic.
(3) Emitter Coupled logic.
4) Complementary Metal Ox1de Semlconductor

.Whlch of the followmg programmmgs actually controls the path of the data within the

- computer?
(1) Assemble language programmmg (2) System programmmg
(3) Micro programmmg K ' (4) None of these

The process in- whlch CPU of a’ computer takes 1nstruct10n from the memory and execute them i
is called :

(1) clock cycle.. - P (2) fetch execute cycle.-

(3) instruction sequencing. . _ .. (4) time sequencing.

The total address space exceeds the size of physical memory in which of the following?

(1) Paging - ‘ _..~(2) Segmentation

3) Both paglng and segmentatlon I (4_) Norie of these -

The minimum size of ROM required to store the complete truth table of an:8-bit x' 8-bit
multiplier will be

4
H

(1) 32><16kb1t ’ (2) 16_k><16h1t o () 64\k x16 bit _ - ({1) 64%16 bit

The statement : & i :
prmtf(“% £, 8/5) pr1nts , A . ;

(1) 1.0 A ) B W 3)20 .- - L }(4) garbage

A node can be inserted.in a circular list at rear position by e - |
(1) inserting at front position of the queue. |
(2) inserting at Rear-1 position of the queue.
(3) inserting at Rear-2 posmon of the- queue
(4) All these e g

Ina c1rcu1ar lmked list orgamzauon insertion of a record involves modlﬁcatlon of. -
(1) one pointer. .. .7 4 (2) two pointers. ,

"(3) three pointers. e Ty, (4) None of these-
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78,
9.
80,
81.

82.

83,

84.

85.

- (3) Logical operator : (4 All have equal precedence/

Which of the followmg types. of operators has:the highest precedence in C programmmg"
(D Anthmetlc operator . (2) Relational operator '

A hash table has a space for 200 records. Then the probability of the collision before the table is
10% full is .

3ol . @) 0.2 © (3) 095 @1

The maximum number of binary trees that can be formed with four unlabeled nodes is

[ORVE ) 14 T @15 -

Which of the following number of nodes can have a full binary tree?
nm7 2) 15 (3) 31 (4 All these

The order of binary search algorithm is .
w2 @n* - (3 Exp@ (4) Logn

The Context Free »Gram'm-ar (CFG) is not closed under

- (1) Product. - - " (2) Union.
~(3) Complementation. - o (4) Both (1) and (2)

Recursive languages are closed under

-(1) union. o " (2) intersection.

(3) complementation. ” C (4) All'these

_ Which of the following statements is not true?

(1) The class of Context Free Language (CFL) is niot closed under union

(2) All regular grammars need not to be regular

3) Accepted word can only form a language

(4) All these
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R ST GENERAL INTELLIGENCE I ‘
1. Porntmg 16 mdn in a. photograph Sakshr said, “His brotheris the father of the son of my - :
-grandmother”. How is-Sakshi related to the man in, . the photograph?

. (1) Grandmece (2) Niece . =~ (3) Daughter o (4) Granddaughter
2 In a certam code 1f ENGLAND p o wrltten as 1234526 and FRANCE 1s wntten as 785291 how-
o is GREECE coded? - T R _
(1) 381171 . '(2) 381191 o (3) 832252 (4) 835545 3; 3 A ': |

' 3 .One day, Ramesh left home and cycled 10 km southwards, turned nght and cycled 5 km and
turned right. and cycled 10 kny and turned left and cycled 10, km How many | kllometers w1ll he
have to cycle | to reach hxs home strarght‘? :

(1) 25km. - (2) 20 lm- =(13l)*1'5:lc1n-- T -..(4) 10»km~~ e

‘ 4. Six students A B, C D, E and F are s1tt1ng in the ﬁeld A and B are from Delh1 whlle the rest
_ ’ - are from Bengaluru. D and F are tall while otherS\are short A,C and D are g1rls whrle others
~are boys Who is the tall girl from Bengaluru" - S , ) "

<1) E. COE i O ¢,

o e

|

' Dlrectlons (Questlons 5-7) Study the following znformatzon carefully to answer these questzons l
Seven students Pradeep, Qadlr Roh1t Sushant Tushar; Uday- and Vrkas write a test series.

Either Rohit or Sushant scores the hlghest in each test. ' S
Pradeep.always scores less than Vikas. = - - . o ‘ R R
.- Qadir-always scores less than Pradeep o - - ‘
. Each time Rohit scores the hlghest Tushar gets the least . :
Each t1me Sushant scores the hlghest either Uday. or Qadlr cores the least
Each student scores marks dlfferent from each other o e

éwﬁbﬁw?

i . 5. _In a, partlcular test 1f Sushant is ranked second Wthh of the followmg can be true"
| o \ @ Udayﬂgets more marks than Vikas:+: . (2) Vikas is’ ranked fifth... At
' ' -(3) Tushar gets more marks than Qadlr @) Pradeep is ranked 3rd

6 - »In a partlcular test 1f Sushant 1s ranked s1xth and Qadrr is ranked ﬁfth whrch -of thee followmg

? can be true? e
5 o (1) V1kas 1s ranked first or fourth (2) Rohit is’ ranked second or th1rd
' _(3) Pradeep is ranked second or ﬁﬁh ' (4) Uday 1s ranked thrrd or fourth

- ;-J’T/'o/zkas/osf_‘ 7 _" L B 301/@ '-




8. Statement : *Space has no grav1tat1ona1 pull. It has no atmosphere

11. 2AD4,3EH9,4IL16, 5MP25; 2"

7. In a particular test, if Rohit is ranked second and Qad1r is ranked fifth, which of the followit;-
must be true about Tushar’s rank? ‘ , {

(1) Fourth . .. (2Thid ... (3)Seventh . .. «(4) Sixth;

Dlrectlons (Questlons 8-9): Each of these questions has statements followed by two concluszonStl—
and I1-Décide which:of the conclusions follows from the statements. . . . S

'Mark answer as -
(1) if coticlusion T follows.
- (2) if conclusion II follows.
Vi (3) if ne1ther -conclusion I nor 11 follows S
S @) if both conclus1ons I and 11 follow.

: ’Concluswns

L. -Gravity is due to atmosphenc pressure
“IL Tt not difficult to breathe ini 'space.

9. - Statement: L Computer literates ‘have good. reasoning ability. Seema can understand the
' ' puzzle quickly. S - ‘
Conclusions: '

-1 Seemai is computer hterate gEE e
.II Seema ‘has goodrreasonmg ab111ty RO

Dlrectlons (Questlons 10-11) Complete the serzes by replaczng 9

10, Z1C, WA4E, T9H QI6L, N25Q,‘9’f’.ﬁ"_¢ B
(1) P36W K3V s, .,,'(3) _Kf_376SU.; c. @KW -

e lmeams - @ems L @ 6QUIs.

TS N . R . e

Dlrectlons (Questlons 12- 13) and the odd one out in each of these questzons L ‘

12. (1) 69,43, ... - (2,) 63,47 - (3) 34,85 o (4) 65,23 .,
R ERN ) B12048 @ CIL30T - () J6PAT © (4) G9P3S .
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S GENERAL AWARENESS

14. Whrch one of the followmg states/UTs has been formally declared country’s first digital
state/UT by President of India in February 20167 S

(1) Chandigarh . (2) Delhi » 3) Gujarat ‘ ,(4) Kerala

- 15. Parliament‘building of _ ' became the ﬁrst in the world in February 2016 to
completely mun;on solar power..". . : '
) UK ' [¥)) Japan . (3) Paklstan (4) Indones1a

L ln [ it lf T . L k SO ! .
16. Where did the four day blenmal'event Defexpo India 2016, Indla ] brggest ever land naval and
- homeland:security. exhlbltron take place in March 20162 . © - »
(1) New Delhi _ (2) Goa_ o (3) Hyderabad (4) Pune

LN ff}i,‘f 3 \(g i

17. Which among the followmg ﬁlms has been selected as the Best Feature Fllm in “the 634
: NationalFilifi Avards for”the year 2015 ‘announced recernitly?’ U .

(1) Piku S - (2) Tanu Weds Manu Returns
(3) Bajrangl Bhaijaan _ S (4_) B,aahuball. The Begmmng,
SRR TR , S
18 Johan Cruyff the famous football legend Who passed away at the age of 68 due to lung cancer
belongs to D S Fee T et T
e Spain, - (2) Dutch ;_‘ j{ (3) France.:-‘ (4) Gennany

19. Which Bank in Indra has 1ntroduced the FERRARI range “of co-branded credlt cards in
-associatiori wrth Itahan luxury sports car manufacturer Ferrari in March 20167

(1) cm Bank o (2) YesBank ™ = " (3) ICICIBank " @ Ax1s Bank

20. The 1nternet ploneer and e-mall 1nventor - has passed away recently in :USA at the
age of 74 years ' ) o ) S

4 - (1) Amta Brookner S (2) Raymond Tomhnson .
(3) Lloyd Stowell Shapley . ()] George Henry Martin

£ ‘,
J‘ WL,

21. Whrch one of the followmg natlonallzed banks from Indla was’ granted operatrng licence by
Myanmar Government, along with, three other Asian banks?.. S .

03! Indian Ovérseas Bank - " ... (2) Bankof Baroda . “ N
(3) State Bank ofIndia ' i 0 @ Central Bank of India -

UT/D/2K16/05. S
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~22.  Who has become the 7th Chan'man of the’ Natronal Human Rights Commlssmn (NHRC) 1n
“20162- N . ,
-(1):R-M Lodha ,.-1;.,‘ At (2)~ K-.G.,,Balaknshna‘n e
(3) HLDattu ST '(4)5N6ﬂe bf—these S R

23. ITC has launched 1ts latest offenng in the WelcomHentage series called WelcomHerrtaget
Haveh Dharampuram A

(1) De1h1 o (2) Shlmla o : (3) Chandlgarh..; (4) Snnagar

5 Pe u P“*?:r

l
|
A
" . 1
24. The US ‘Pre31dent Barack Obama has recently made a h1stonc visit to whlch one of the |
: followmg North-Amencan countnes after a, gap .of 88 years by any US President? . .. 1
(1)_Mex1co e (2) Cuba NI (3) Honduras -, (4) Nlcaragua l

- "_{3"{ n ;\-' . ‘:-u,— ;-, l:“f g" T . )

* 25.° Where was ‘Iron Fist 2016’ the exercise for air power demonstratlon held by the Indlan Air |
ST Force in March 2016‘7 PP . j

(1) Gu_]arat T (2)RPunJabb

t

i ,‘:z;’.(S),Méha,rashua;z":' @) Rejestban | 1

o \;fr-*)'%f, 01 :-';'”'» I B oy o ! ;

26 A shopkeeper buys an artlcle for ? 400 and marks 1t for sale at a price that glves h1m 80% l
- profit, on- his cost.-He, however, gives a 15% discount_on the marked price to h1s customer
Calculate the actual percentage profit made by the shopkeeper o

';fl ‘i

N 60% L % (S% .(4) 5‘7% | P

. . L s i A :§~ I

it amount to 8t1mes 1tse1f‘7 L SRS : S ; |
(1) 9 years . (2) 8 years S (3) 27 years : (4) 7 ycar's ' ;

."_'f. :‘j .’"f.‘,‘jr’.f_- ;{;: He , 1 dg L { v;ﬁm“{m_; e . S s ,’:? Lo . 3 |

28, - Ifa pnnmpal P becomes Qin2 years when mterest R% is compounded half yearly And if the ;
same principle P’ becomes Q in 2 years when mterest S%:is compounded annually, then whrch ,'1%-

i _of the followmg is’ true‘7 et C )
(1) R> S ' (2) R S 5 (3)vR‘< SA S (4) None of these
RIS LD ¥ o6 LAV P T e {‘-r:w?",‘ P AV ATE BCTTIEI A_fr?;-:“, G

,“( . ,. . "I‘:r""

29 The present ratio of the ages of Al and s 4 G 18* years ago,* thls ratro ‘was’ 11 16 Fmd the - 4

sum total of their present ages..y vt Y sl - o : ':‘lw
(1) 90 years i (2) 105 yearss iy (3) 110 years . (4) so years |

JT/Q/ZKISZDS S 6 o
|




30. Brass is an alloy of copper and zinc. Bronze;is an alloy «containing 80%. of copper, 4% of zinc
and 16% of tin. A fused mass of brass and bronze is found to contain 74% of copper, 16% of
syt 200, and 10% of tin. What is the ratio of copper tozinc jn Brass?. .~ . . o+ .

1

o

© ()64%and36% - (2) 33% and 67% - (3) 55% and 45% . ....(4) None of these. ..

31. Ajfay and Vijzay undertake to do af..i)'iebée.of.Wc')'r‘k}""fér“l??‘2OO§‘iiAjé§;4aldri’éi’éhn do’it'ifi 24' days
while Vijay: alone,can, do.it in:30.days: With the:help:of Pradeep, they. finish the work in 12

days. How much should Pradeep get for Lis work? CREEE PR
(T2 "0 @ %100 G)R18O" " (@ Eso

32.. If a number is multiplied by 22 and thé-same nuribsk i addad 145 than we get'a infinbet that is
half the square jdﬂtha? Pﬁmber.«%F,iqd::the:ﬁlimber. et atid (L) ST
mas - @4 B4 . (4) Data insufficient

T Dofaern g sl imee, Ly e

o L £ " .i'.'
3,1s less than the average. -

33. The average.of x, y as.much more than the average as
Find the value of i ™" T s : '

34, In what ratio-should water be ini_y'(ed with soda costing ¥ 12 pef litre so as-to make a profit of o
i 23% by selling the diluted liquid at 2 13,75 per litre? . b |

¥

LN wa e g fBe e g RIS A R T

@z

@M1 )11:1

- 35, &éfnaﬁiiﬁvé's“féi}fé}io,ooo' if§6fiis Shafes i the ratio 2315 which pay dividénds- of:10%, 25%
"~ “and 20% res_lieétively'(')ﬁ his investment for that year. Find his dividend income. - '
- DRI00, (2582000,

Ly g
Gl b

3 ?%950“ o . %1950, -, B

36. A music 'sﬁs“tem- when sold for ¥ 4500 gives ‘& Toss of 16.66% to the merchant who sells it.
- Calculate his loss or gain per cent (approx,), ifhe sells it for ¥ 5703.75. o '
(1) Lioks of 5:625% B < eendn aneleg () Profitof 813304 bis ~resfty st

4'(3)-Lpss-of7:0%'__.7._ o (4) Profit of 5.60% 4

37

hours will it take to completely:ﬁll'.aEﬁaIﬁéﬂiptyAtar.lrkt? . S
)30kt @) IS 320k .(4)3333Drs |

Pl s B T S .- R o
e A L R A S U T W (R APR T T e

B R K by R Rl OIS L T e L

38, Acar travels. one-third of the, distance on 4 straight road with a velocity of 10 km/h, the next
.one-third with a Velotity of 20 km/h and the last one-third with a velocity of 60 km/h. What is

- the average velocity of the' cat foF the Wwhbdle journey? A S
(1) 18 km/h LA 0kvh - (3)30knvh - @ 15kmh

{
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Dlrectlons (Questlons 39-41) Choose the op_tzon whzch best' expresses the meamng of the underlmed ‘

TR
‘:._\ 1f y R L e

e vt <A'.}'"\‘

zdzom/phrase i the sentence e

39 Desplte bemg‘-under debt,‘Rahlm* t111 keeps a good table. .

.w{,”‘. - i

(2) entertams h1s guests sumptuously

(4) is hvely and gay when'his’ fnends call 1
.( . . . %
40 Hewasa kmg who ruled h1s subjects w1th a hxgh hand. - B S L )
(1) oppresswely ;_w__(2),k1n_dl)‘{ . (3) sympathetlcally 111(4) wis?ly o) ‘
41, I d1d not mmd what he was saymg as he was only talkmg througl_1 his hat. B ) B ;,
SR ) talklng 1rrespons1b1y B i
(4) talkmg nopsense
sletRe Tl BT s e A A
! o
' Dlrectlons (Questlons 42-43) A word has been wrztten in four d ﬁ"erent ways “out of whzch only one 11
is correctly spelt. Choose the correctly spelt word. - ° S ;
42 (D:;En@r,.eprenuer g \-:.(4) Entreapreneur, ;! |
(1) Sovenegnty :
i“ (\u 4 ﬂéz“ PEeN ’{?’;" ! K "l § 1
Dlrectlons (Questlons 44-45)' gIn;eae oﬁthese questzons ohoose the word whzch can be substztuted
“for the gzven sentence/words g ¢ 7 : TR DS
4. A pubhshed‘verbal declarahon of the 1ntent10ns Amonves or v1ews of the politjeql party- |
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Dn‘ectlons (Questlons 46-47): Choose the Word whzch best’. expresses the meaning of the underlmed
word in the sentence. o« - . ’

T S S P AP

46. It was a/an igno mou defeatfortheteam B T S L IR R
(1). shameful _ (2) admrrable .. 2(3) unaccountable: (4) worthy
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21

"47. Frantic efforts were made to save the drowmng child.

(1) Hopeless =~ (2) Desperate B _(3) Sincere ' L(4) Careful

Directions (Questlons 48-49) Choose the word whzch is opposzte in meaning of the underlzned word
in the sentence

48. Savrta did not heed the. d1sda1n she: had to bear at the hands of her step-mother it AT
(1) Penitence (2 hurmlrty ~ (3) pride “"(4)-admiration - -

(1) short temper N (2) extravagance . (3) shabblness G @ punctuahty ;

S I L A T |
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Dlrectlons (Questrons 50-51) In_each. of these questzons choose the best optzon to complete the
sentence : :

/50, The doctor v warns h1m that unless he gnfes up’ s;inoknylzé, T e e v
o, he’wrll not suffer '
(2) his health will Soon be recovered. ' 1}:,‘;1,,,;; e o s
(3) he w1ll not recover T { b
(4) will he be able to recover. .
) ST e PSR SO RN DS PO
51. George is so lazy that he mol T R ' Jutiiy b
: (1) can’ tdepend upon others for gettmg his work done o trRams
(2) can seldom complete his work on time.
(3) always extends help to others to complete therr work 4 et S
“4) always completes his WOI‘]E_OII t1me # b |
. 0 £ :
|
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L U PR VSO S COMPUTER SCIENCE -+ +; = 0 il l
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52." A node can be mserted ina crrcular hst at rear posrtron by —- - ' l
(1) ingefting at’ front position-of the queue. . At DT b il ik oo 'l
(2) inserting at Redr-1 position of the queue. S o
3 inserting at Rear-2 posrtlon ‘of the queue. - : : ' - l‘
(4) Allthese AR o T
‘ '~<‘ .-,.4"'} ,’:.\‘ - " ~31_’: ,"L - - " o \ ’ K ‘i u. éi
, 53.. Ina crrcular lmked list orgamzatlon insertion of a record 1nvolves modlﬁcatron of “ ;
(1) one pointer. ‘ _(2) two pointers.
_y (3) three pomters R o (4) None of these R l
R TR O LA AR VIR L Y Ot I A “a
‘o R - . o . |
54. Whlch of the followmg types of operators has the hlghest precedence inC programmmg"
“(1) Arithmetic, operator Vo T b ,»,(2) Relational operator IR 1
3 Lagsca!l&r%rator RN o (4)_ Al:!;hare equal prec.edence,,.«:r;- A
g | o o )
55. A hash table has a space for 200 records Then the probablhty of the colhsron before the table is
C10%fallis_ e s l
AT (3),09 st @7 - |
56 The: maximum number of bmary trees that:can be.formed with four unlabeled nodes is o
w3 v(l) 12 5 A w.m.t, _ @) 14~w CTA *(3)a AEER SN (4) 152 S ’i
: : - : KU
L A
57 Which of the followmg number of nodef gan have a full binary tree? 3 PRTE l,
N o (2) 15 (3) 31 (4) All these 1
. ] “ - - \ ; JALH] : " !\ H ? o
_ _ . : !
58 The order of: bmary search. algonthm is_ e R : L
omr s o @@ - @lesh T
.- o T ‘-Ej"' [RESUPRRTe ‘ﬂ.‘lr‘
}.\ B '14':" -t - DR - : n B ] : .
59. The Context Free Grammar (CFG) is- not closed under : ) ‘
) Product. - = - - (2) Union. B R R I it
- (3) Complementation. i (4) Both (1yand @) .. o i
- 60. - Recursrve languages are’ closed under ;_ ."’_5;‘ » T 5 " z ,
(1) union. . - - - ’ ) mtersectronm s ’ : I
(3) complementatron SR (@) Allthese e CAETE
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-61.

62.

63.

64.

65

- 66."

67

68.

- The employee salary should be greater than 10000 is

(1) CPU SR Mother Board (3 Supervisor - ..

- Which of the following statements is not true? . R
- (1) The class of‘Context Free Language (CFL) is ot closed under union

(2) All regular grammars need not to be regular

- (3) Accepted word can only form a Ianguage

(4) All these

.

Whlch of the following data structures is mainly used dunng shrft-reduce parsmg?

Y Bmary Trees .(2) Pointers, .- (3) Queues L . (4) Stacks

Whlch of the followmg is d1scnm1nator of the weak entlty?
(1) Date o ' . (2) Transaction number
(3) Both (1) and (2) (4) None of these

In relational Schema, each tuple is divided into fields called -

(1) Domains.’ - (2) Trees. o 3) Queries: RN (4) Chain;

and Manager;s salary detail
are hidden from the employee is _ '
(§)) mtegnty constraint, external level data h1d1ng

~ (2) referential constraint, external level data hiding a

(3) integrity constraint, physical level data hiding
(4) integrity Constraint, conceptual level data hiding o s

:Normalization‘of database is usedito. . lsL ninnr o

(1) reduce EITorS. : ) - (2) improve security.

(3) ehmmate redundancy RO . * (4) Allthese™” "

Tag . T R Y

~ The extent to_ which the software can control to operate correctly desplte the 1ntroduct10n of
: invalid i 1nput iscalled- - TR

(1) antivirus efficiency. ) performance of the system L

- wae, F
A i

() robustness‘. o ', ’ 4 rehablhty

Which.. of . the following parts of. operatmg system coordmates the- activities of the other
program? :

. (4) File Manager

. JT/D/2K16/05 : B & R
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69. yTwo commands with’ dlfferent names share the ssarhercode is-called v - RO o
_(1) ahasmg 51tuatlon He w(2) arace. condltron LY@y toggle"condltlon. o u(4): None .of these '

- ‘S 0 00 st IR TLe
70. In networkmg termmology UTP means; gl Gl R ARD ey ‘\

™ Umformly,_’l‘wrsted_Parr_i A ?(2) Unshlelded Twisted Pa1r i e
(3) Uniform Terminating Pair. ~ ° ~ " (4) Unshielded Task Pair. e

Cded . Teteey o eBees Ty s T . I' L 5 TP i s
3, U ?t TPV R N L G JORPERS PS4

I R !
_ 'arisesm‘a/an e :
1 gltal converter, ¥ (2) digital ‘to ‘anialog convertei' e Lo

71.

(3)-asynchronous circuit. - ’ (4) synchronous crrcurt !
. w2t o i G iy i oL o e e TR At e |
: . 72. Aserial adder requn‘es\rui A o : TSR ‘
(1) one full adder only. ucsrﬁ.v.. , (@ twofulladder. T D A "
(3) more than two full adders. - : - (4) one half adder . ’ : . :
V .A..V B3y no el b ’.*"' ol ubeud 3 : A 'l
73 Anup- downrcounter is also called e 017 .
M forward/backward counter . 2) b1d1rect10na1 Counters ¢ :‘ P
(3) _Both (1)yand (2) - ‘ ( )None of these ' , b
2b Jinls £ Li NS ’th f‘. SRS O\ R S R z L
74 The fastest logic farmly that does not operate G S
_‘(1) Res1stor Transrstor Logrc. ’ 7
(2) Transrstor -Trans1stor Logic. y
(3) Emitter Coupled logic. | . y
4y Complementary Metal. Ox1de Semlconductor R RN ‘ b
75. Whrch of the followmg programmmgs actually controlshthe path of.ithe:: dataw wrthm the» ';\' :
" computer? . i 5 - ey
(1) Assemble language programmmg, ‘ (2) System programmmg B ;;;::'.' :i { ;
'_(3)_M1cr:-o. progranumng e " (4) None of these : L
, 7% f“’i‘h'ef ‘ﬁré;é'és“s mwhrch CPU' of a computer takes 1hstr’ﬁétf6n ﬁom thhyet rriemory and execute them N t’ ‘{
' is called - . . . ) : L
) (1) clock cyé , . " (2) fetch execute cycle SRR b
(3) mstructron sequencmg R ‘ - (4) time ‘sequencl_ng. S & i ‘

- N v 5 . . ) . { :
A 77m aThe 'total ddréss’space.é tee ds he size’ of phys1ca1 memory m*whrch St thie followrng 35 i
o) Paging - . : (2) Segmentatron ‘ S ‘{ ;

“(3)B6 thpa’g'rng"} nd segmen't’étiti‘nﬂ K 5‘“ - (ay Non‘e of these’ et H
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78,
79,
80.

81,

- 82.

The minimum size of ROM;; requ1red torsstere\bthe complete truth table of an 8-b1t x 8-bit
multiplier will be . *

(1) 32x16kbit = "(2) 16kxI6bit. = . (3)64kx16bit - (4) -64><16 bit

The statement S , )

printf(“% £, 8/5) prints

ML . @ (320 ' (4) garbage'

Different compiters are connected toa LAN by‘ . _
(1) cable and modem. L (2) cable and interface card.
(3) special wires. o .. . (4 telephone lines. -

In half duplex communication system, .
(1) transmission takes place i in both directions, but only in one d1rect10n at a time.
(2) transmission takes place in one d1rect10n

|
(3) transmission takes place in both d1rect10ns s1mu1taneously , .
‘(4)Noneofthese R S S e X
Web pages start w1th the tag TR ;
- (1) <HTML>. (2) < BODY > -(3)<HEAD> ~  (4) <FORM> |

83.

84.

Which of the \fpllqwing' is location of map definition file? -
(BN (2) RECYCLEBIN (3 TRASH . (4) CGLBIN

What is the functlon of Markup Tags?

(It tells the Wweb browser to orgamze the'ipage., .
(2) It tells the web browser to display the page.

" 3)] It tells the web browser to update the page.

85.

- 4) None of these ~ )

XMLis: __and tags element in XML are ‘
(1) declarat1ve language case sensitive - (2) declaratlve language case 1nsens1t1ve
(3) 1mperat1ve language, case sens1t1ve (4) unperanve language, case 1nsens1t1ve
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SIDE 1

ANSWER SHEET

3

PART A : WRITE WITH BLUE BALL POINT PEN ONLY ~_E===={ USE BLUEBALL POINT PENONLY ( §

FILL UP ALL THE RELEVANT COLUMNS ON THIS PAGE FAILING WHICH YOUR ANSWER SHEET WILL BE INVALIDATED.

1. NAME (AS FILLED IN THE APPLICATION/REGISTRATION FORM)

TITIA=|TIEICIH|A|I |CIA L |-|D|H|C

2. DATE OF BIRTH ; 3. TEST DATE
" Fal
/ / ol®]|/|e|l5|/|]1]€
|2 SRERIE D M M ) A D4k M M ) i ¢
4. CANDIDATE'S SIGNATURE INVIGILATOR'S SIGNATURE
: i | have carefully examined the identity of this candidate and
(A eofle i s D | also all the entries made in SIDE -1, PART A & SIDE - 2,
3 : PART B. | certify that these are correct.
# 4 v
SEAL OF EXAMINATION CENTRE N e d A -/ Ve /‘4 Y / P 7,.' : i :a .' /{

q//>

IMPORTANT INSTRUCTIONS
1. Read carefully the instructions in the Question Booklet.
2. Each question has four answer options. Mark the answer
option number by darkening the corresponding oval. Shade

only ONE -oval.

3. For marking answer, completely darken the chosen oval as
shown in the correct method below :

Correct Method OBO® Wrong Method ) J@O®

4. Once an oval is darkened as answer to the question, it is
final. Any change by erasing, using fluid and making cross (X)
in the oval is not permitted.

5. Make no stray marks on this sheet.

6. Non adherence of any instruction will lead to the cancellation
of candidature.

7. There will be 25% Negative marking for every wrong answer.
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- . o 100000060060
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& 5 |[1900000008
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PART B : WRITE WITH BLUE BALL POINT PEN ONLY

¥EPEHELEENEEOERRERREHOERROM
¥00000EENEEEREEFFLOEDENONE
SleleleleleleleISRSIeISIEICIeICICIeICISISISISISIS)
PHELEELEEROENNERREREVOREENEOM
SleleleleleelElSIelCISCICIOICICICISISISISISISIS)
PEEREOEE0YLERPEELORREROE
SlelelelelelelSSRIEIeISIERIeIOCICICISISISISISIS)
EE0EOPE0ONEERPEEPHORDENON
0E0LHEENEREERERPEVWEEDEROE
BELRLLEE0R0RRERPELOEDERON
SlelelelelelelSISIeSIeISIelCIeIOCIglCISISISISISIS)
BE0LLPENENEERPEPNOREERON
FE0LLEENEFEEREREPLOEEEROE
PELELOPE0ENEERPEPELVOREENON
SleleleleleelcISIeISIeISClCIeIoCIgICICISISISISIS)
0800LRE0ENEERFEEFHOREENON
0E0LHEENEEEEREEPELOEDERON
PEPEELPENEEEERRERRVEEDRBOY
SeleleleleClSISRCICICRICISICICISCISISISISISIS
0E0ULPENENNERPEEEEOREBERON
CleleleleleelEISIelIelCCICIBISICISCISISICISISIS)
EERRELLECOREARPEERHOEORROM
REORLOEEOEEEERERPFHOEOERON
9E0ELLEE0ERERRPREFHOEERROE
ClelelelelelelSSIeSICISIEICIeICICICISISISISISIS)
SCIeCBRlelEISeISIeISICIOIBCICIOCICISISISISIS
REEEEOEEOEECEEEEPEHOEOAROY
EE0ELPEOENEERFFNOEOEROE
SlelelelelelelCISICISICICICIORICICICOISISISISIS)
BELPELREEEEEEERBRRWNEDRREE

mm 5. NAME OF THE CANDIDATE
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MARK THE APPROPRIATE ANSWER OPTION IN THE OVAL O CORRESPONDING TO EACH QUESTION NUMBERED 1-85.
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000000000000 60686 8 wmm
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fecenecocanneeses 4]
I EELEEELIEEL .mmm
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